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ExamViel/

Remember that in the slope-intercept formof y=mx+5..

m is slope
b is y-intercept
x and y are coordinates on the line

Which of the following is equivalent to 5x — 4y = 3?

a y=p3 c. p=—2gt3
PR TR
5.3 5.3

b y=—2x2 d y=Zx+2
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Remember that in the slope-intercept form of y = mx+b...

m is slope
b is y-intercept
x and y are coordinates on the line

4

Which of the following is equivalent to y = MH+M@
a. —4dx—-3y=6 c. dx+3v=6
b. —4x+3y=-0 d 4x-3y=-6

www.mrtownsend.com

four_score_notes.gwb - 3/17 - Wed Jan 25 2017 10:31:06

powered by
mxw:..s.mmw

Remember that in the slope-intercept formof y=mx+5..

m is slope
b is y-intercept
x and y are coordinates on the line

Which is the y-intercept for 4x + 5y = —6?

a. —

4
5
6
b. —

5

(R =R [
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Remember that in the slope-intercept form of y=mx+5...

m is slope
b is y-intercept
x and y are coordinates on the line

Which is the slope for Sx—4y=7?
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Remember that in the slope-intercept form of y=mx+b... Remember that in the slope-intercept form of y =mx+b... w
m is slope m is slope kel
b is y-intercept b is y-intercept S
x and y are coordinates on the line ¥ i H o
: J x and y are coordinates on the line mv
/ . 2
! [}
=
E
E = * W
2 7 = 2L :
‘Which of the following matches the graph?
Which of the following matches the graph?
6 .4 6 4
y=—axtz y=3¥3
©TTENS ¢ TENS a 6x—5y=-8 ¢ —6x—5y=8
b ‘en\m.«\m 4 \,nm.Tm b —6x+5y=-8 4 6x+3y=8
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Bemember that in the slope-intercept form of J =nx + b. Bemember that in the slope-intercept form of y =+ b...
m is slope m is slope
b is y-intercept b is intercept
x and y are coordinates on the line x and y are coordinates on the Ene
Which graph matches 8t + %y =107 Which graph matches y uwww,
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Remember that in the slope-intercept form of y = mx +b...
m is slope

b is y-mtercept

x and y are coordinates on the line

‘Which of the following match the pomts in the table?

X ¥
4 —3
8 -13
12 -18
a u.um,ﬁrm c 3 Hmawm
b y= \m,a\m 4 y= \mﬁrm

Remember that in the slope-intercept form of y = mx+ ...
m is slope

b is y-intercept

x and y are coordinates on the line

Which of the following match the points in the table?

x y
4 -3
-8 12
—12 17
a. Sx+4y=8 c. —Sx—4y=8
b Sx—4y=-8 d. Sx+4y=-8
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Remember that in the slope-intercept form of y=mx+5...

m 1is slope
b is y-intercept
x and y are coordinates on the line

Which of the following match the points in the set?
{(=2,6),(4,-3),(-6,12)}

2y u‘wl c. »_u‘wiw

b y= W(ﬁru d y= W -3

p
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Remember that in the slope-intercept form of ¥y =mx+b...

m is slope
b is y-intercept
x and y are coordinates on the line

Which of the following match the points in the set?

ﬁﬁwu \Hvu A\@u Mﬂvu ﬁou \@v%

a. 4x-3y=9 c. —dx—3y=-9
b. 4x+3y=-9 d —4x+3y=9
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Remember that in the slope-intercept form of y=mx+5...
m 1is slope

b is y-intercept

x and y are coordinates on the line

Which of the following has a slope equal to a negative five rise and a negative
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Remember that in the slope-intercept form of ¥y =mx+b...
m is slope

b is y-intercept

x and y are coordinates on the line

Which of the following has a slope equal to a positive four rise and a positive
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four run?
five run?
_ 1.5 5.7
e YTy R ] a 2x+5yp=4 ¢ dx+5p=2
_ 5.7 _ 7.5 b. 2x—5y=4 d 4x-5y=2
y= 2t L y=dpt? 'y V
b. ¥ a(ﬁr ] d. ¥ N_.« 1
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Which of the following shows three input and output pairs for g(x) = —3x+9?

a. {(-9,36),(-19,66),(~10,40)} c. {(-10,39),(-9,36),(-19,66)}
b, {(-19,67),(~10,39),(-9,35)} 4 {(-9,35),(-19,67),(-10,40)}

Which of the following is the function for the three input and output pairs?

x )

8 26

6 -18

15 —54
a. p(x)=—4x+6 c. px)=—4x-06
b. p(x)=4x+6 d p(x)=4x-6
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Which of the following is the function for the three input and output pairs?

x J(x)

1 5

—4 20

-11 41
a. jx)=-3x+38 c. jx)=4x-7
b. jx)=4x+8 d jx)=-3x-7
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